
Indo-European

Balto-Slavic

Slavic

Czech [ces]
vlať ’panicle (of oats)’

Western
South Slavic

Serbian
-Croatian-Bosnian

[hbs]
vlȃt ’panicle’

Slovenian
[slv]

vlȃt ’ear’
vlȃt ’panicle’

2;2
2

Russian [rus]
vólot’ ’thread’
vólot’ ’fibre’

2;2

2

Old Prussian [prg]
wolti ’ear (of corn)’

Lithuanian
[lit]

váltis ’panicle (of oats)’

2 2

Northwest
Germanic

North Germanic

East-Central
Swedic

Swedish [swe]
vallr, valdr ’grassland’

vallr, valdr ’land’
vallr, valdr ’field’

Dalecarlian
[qer]

wall ’field’
wall ’grassland’
wall ’pasture’

3;7;7

7;3;3

West Scandinavian

Norwegian
[nor]

voll ’grassland’
Icelandic
-Faroese

Icelandic
[isl]

völlur ’grounds’
völlur ’field’

Faroese [fao]
vøllur ’sward’

vøllur ’grassy field’

7;7
2;3

Old Norse [non]
vǫllr ’plain’
vǫllr ’field’

vǫllr ’meadow’

7;3;7

7

West Germanic

Franconian

German [deu]
Wald ’wood’

Middle
-Modern Dutch

Dutch [nld]
woud ’wood’

Middle
Dutch [dum]

wout, wolt, walt ’forest’
wout, wolt, walt ’wood’

2;2

2

2

High German

Old High German (ca. 750
-1050) [goh]
wald ’wood’

Middle
High German [gmh]

walt ’wood’

2
2

North Sea Germanic

Anglo-Frisian

Anglian

Mercian

English [eng]
wold ’moor’

Middle
English [enm]

wald, wæld ’woodland’

2
7

Old English (ca. 450
-1100) [ang]
weald ’wood’

2

Old Frisian [ofs]
wald ’wood’

2

Altsächsisch

Middle
Low German [gml]
wolt, walt ’wood’
wolt, walt ’forest’

Old Saxon [osx]
wald ’wood’

2
2;7

Insular
Celtic

Brythonic

Southwestern
Brythonic

Cornish [cor]
gols ’hair’

Breton [bre]
guolt ’hair’

1
1

Old Welsh [owl]
gwallt ’hair’

1

Goidelic

Western
Goidelic

Irish [gle]
folt ’hair’

Old Irish (to 900) [sga]
folt ’hair’

folt ’foliage (poetic)’

1;1

1

Scottish
Gaelic [gla]

falt, fuilt, fuiltean ’hair’

1

Cognate Set: 81248
Yes No

fibre 0.50
land 0.50
meadow 0.50
panicle (of oats) 0.51
plain 0.50
grassy field 0.50
woodland 0.50
ear (of corn) 0.50
grounds 0.50
hair 0.48
field 0.49
thread 0.50
wood 0.48
moor 0.50
panicle 0.50
sward 0.50
pasture 0.50
ear 0.50
grassland 0.49
foliage (poetic) 0.50
forest 0.50


